StarTechy.om

Hard-to-find made easy®

12U Wall-Mount Rack

RK12WALLO

e LT T

T

*actual product may vary from photos

FR: Guide de I'utilisateur - frstartech.com
DE: Bedienungsanleitung - de.startech.com

ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com

PT: Guia do usuério - pt.startech.com
IT: Guida per I'uso - it.startech.com

For the latest informatior

this product, please

cifications, and support for
m/RK12WALLO.

Manual Revision: 05/12/2017


http://www.startech.com/RK12WALLO

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

Dichiarazioni di avvertenza

Assicurarsidi Assemblare il prodotto secondo leistruzioni.

Read
assemble and use this product,

assemblare e a utiizzare questo prodotto.

roduct roduct migh
" 5815, I
o muri puo accessori
u
least fou the ht of the d PP e
atleas four times the weight of the mounted equipment. daymuro doverbe e ing
Before talled,
and mounted it 103 wall Prima d di tallat
montato correttamente a una parete
L dort
P i on the bottom
Pl pesanti nela parte inferore
Warnhinweise Avertissements
Assemblez ce produit conformément aux nstructions
assembler et utiliser ce produit. :
Verletzungen pre
geeignet: 90 kg 2 50
L 3 4 etle matériel
tsind. \gen und/oder zur blesser ou d natériel. doit pou PP
fer a
Jiert und Wand " q ble
befestigt haben, bevor Se Gerate hinzufgen. installé et fxe au mor.
danslapart prioité,C ¢ ment a
instaliet werden und die schwereren Gerate sich unten befinden. Tes e
Waarschuwingen EE
Zorg dat u ditproduct volgens de nstructies n elkaar ze, BRI CRMROBH T TR TTEL,
BYNCERREE BE Ty ARROBHTTHET N TBRLTH SEH I TR
zetengebruikt BHTFEL,
fetselof AUSTEBONL NESIELTFEL AN
B 8 THTERT,
“Andi SEOWESNILTREYET REOMESERI SR SRIUE BB
SAPNANEBETHRL L CoISERSL AR SRR NSO
Zinom ten bk N I P e S
" . AWRCHBERAT SR BT BB REE—E FOL7Y 3 CANT TSN E
manier in elkaar L\gﬁﬁ“:[Eh-ﬁiﬁbih‘b®0‘70f7/3/~3L\b®mlmt7/3/luﬂﬁ*ﬂé¢t
Wanneer " .
in
P a
Wworden geinstallerd.
. Advertencias de uso
Mensagens de aviso dverte de
c
G conel
amontarea ensambiajey el o de ese producto
wtiizareste produto
!
Nao exced: puede.
de cargai 90 kg,
" por certezaeltipo
Usar ° izar para sopor
estrutura de j

devidamente o prodiito a uma parede:

correctamente en una pared.

c
e

ferior

pesados estejam no fundo.

Instruction manual

StarTechg-0m

Hard-to-find made easy



Varningsmeddelanden

L
produkten.

o

90: i det

kan ska
vikten av den monterade utrustningen.

1 tallerat och fat den tll

9
envagg korrekt

Nardu 3l in den
Fortsitt stal

och den tyngre utrustningen ar langst nér.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Table of Contents

Warnings

Product diagram

Product dimensions

Assembly diagrams

Package contents

Requirements

Assemble the RK12WALLO

Mount the RK12WALLO to a wall

Install equipment

Technical support

0 00 N O U1 1 B W N

Warranty information

Instruction manual
iii

StarTechy.0m

Hard-to-find made easy



Product diagram

Horizontal bracket

o—— Vertical rail

Wall-mount hole

Horizontal bracket

StarTechy.0m

1 Hard-to-find made easy

Instruction manual



Product dimensions

12in.
95 mm 504 mm 40 mm
504
4Vr:. 20in. 20::(“ H—'\ Sin. i
1_ [N NI (]
25
406 mm 465 mm o oo
16in. 18in.
00
450
17W\,m 10
641
s w
00
0|
00
# roTersTr M bl o

StarTechy

2 Hard-to-find made easy

Instruction manual



Assembly diagrams

StarTechy:0m

Instruction manual

Hard-to-find made easy



StarTechy:0m

Instruction manual

Hard-to-find made easy



Package contents
« 48 x M6 screws

- 48 x M6 cage nuts

« 48 xwashers

« 16 x assembly screws

« 2 xvertical rails

« 2 x horizontal brackets

« 1 xinstruction manual

Requirements
- Phillips type screwdriver

« Appropriate tools and mounting hardware for the type of wall you're using

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/RK12WALLO.

Assemble the RK12WALLO

It requires two people to assemble the RK12WALLO.

1. Place one of the vertical rails inside one of the horizontal brackets and line up the
assembly holes.

2. At the front of the horizontal bracket, use a Phillips type screwdriver to insert two
of the assembly screws through the horizontal bracket and into the vertical rail.
Tighten the screws in place.

3. At the side of the horizontal bracket, use a Phillips type screwdriver to insert two
of the assembly screws through the horizontal bracket and into the vertical rail.
Tighten the screws in place.

4. Repeat steps 1 to 3 to attach the second vertical rail to the horizontal bracket.

5. Place the other horizontal bracket over the ends of the vertical rails and line up the
assembly holes.

StarTechy.0m

5 Hard-to-find made easy

Instruction manual


http://www.startech.com/Rk12WALLO

6. On both ends of the front of the horizontal bracket, use a Phillips type screwdriver
to insert two of the assembly screws through the horizontal bracket and into the
vertical rail. Tighten the screws in place.

7. On both sides of the horizontal bracket, use a Phillips type screwdriver to insert two
of the assembly screws through the horizontal bracket and into the vertical rail.
Tighten the screws in place.

Mount the RK12WALLO to a wall

Warning! Remove all equipment from the wall-mount rack before you attempt to
mount it to a wall.

Warning! Wall structures vary and it is important to make sure that the type of

wall structure and mounting hardware that you are using will properly support the
mounted equipment. Failure to do so might result in personal injury and/or equipment
damage. The wall structure should be capable of supporting at least four times the
weight of the mounted equipment.

The RK12WALLO can hold up to 198 Ib. (90 kg) in weight.

Warning! If you lack the necessary expertise to attach this product to the wall that
you're using, contact a construction professional to install the wall-mount rack or to
provide specific mounting instructions for your wall structure.

1. Use the four wall-mount holes in the horizontal brackets as a template to mark the
wall where you want to hang the wall-mount rack.

2. Follow the appropriate steps for the type of wall that you're using and attach the
wall-mount rack to the wall.

StarTechy.0m

6 Hard-to-find made easy

Instruction manual



Install equipment

Warning! Do not add equipment to the wall-mount rack until it is securely attached to
the wall.

Warning! When you load equipment into the wall-mount rack, load the heaviest
equipment in the bottom section of the rack first. Continue loading equipment in a
descending order of weight, so that the lighter equipment is installed in the upper
sections of the wall-mount rack and the heavier items are on the bottom.

This wall-mount rack comes with cage nuts and screws but the equipment you're
installing may come with mounting hardware. Consult the documentation that came
with the equipment to determine the best mounting hardware that you should use
and how you should install it.

1. Insert the M6 cage nuts in the vertical rails.
2. Line up the mounting holes on the equipment with the M6 cage nuts.

3. Insert the M6 screws through the mounting holes on the equipment and into the
M6 cage nuts.

StarTechy.0m

7 Hard-to-find made easy

Instruction manual



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



